Algebra 2 – 2nd Semester Final – MC 1.0
1. Simplify: 
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3. Factor:   a3 + b3

A. 
(a + b)(a2 – ab + b2)

B.
(a + b)(a2 + 2ab + b2)

C.
(a + b)(a2 – 2ab + b2)

D.
(a + b)(a2 + ab – b2)
4. Expand:   (x – y)3

A.
x3 – y3 

B.
(x – y)(x2 + xy + y2) 

C. 
x3 + 3x2y + 3xy2 + y3

D. 
x3 – 3x2y + 3xy2 – y3
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5. Put in standard form:  
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6. Put in standard form:  
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A.  
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8. What is the domain of the function:   
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9. Find the point of intersection of the three planes: 
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A.
(1,  –1,  2)

B.
(1,  –2,  2)

C.
(–1, 1, –4)

D.
(–1,  2,  3)
10. 
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11. Solve for x:  
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A.
3/2

B.
5/2

C.
7/2

D. 
9/2
12. Solve for x:  
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A.
x = 0

B.
x = 3

C.
x = 0, 1

D.
x = 0, 3
13. Solve the following system of equations:  
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A.
(4, 5)

B.
(4, 5) and (2, 1)

C.
(4, 5) and (-4, -5)

D.
(4, 5) and (0, -3)
14. Solve the following inequality:  
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A.
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15. If the diagonal of a rectangle is 13 and the length is 12, find the perimeter.


A.
5


B.
17


C. 
25


D.
34

16. If the length of a rectangle is 3 times the width, find the length if the area is 75 m2.

A.
3 meters

B.
5 meters

C.
15 meters

D.
25 meters
17. What is the midpoint between (3, 9) and (6, 6) ?

A.
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C.

[image: image47.wmf](

)

4.5,7.5



D.
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18.  Which expression is not equivalent to: 
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C.      
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19. Solve the exponential equation:  
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A.
-1

B.
1

C.
-2

D.
2
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20. Solve the exponential equation:   
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A.
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21. Simplify:  70 + log 1

A.
0

B.
1

C.
7

D.
8
22. Evaluate:   
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4
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8

D.
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23. Solve for x:  
[image: image62.wmf]3
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A. 
2

B.
4

C.
6

D.
8
24. Solve for x:  
[image: image63.wmf]ln5
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A.
5

B.
x5 

C.
e5

D.
ln 5
25. Which function does not have an inverse function (is not 1-to-1):    


A.
y = e-x

B.
y = x2

C.
y = x3

D.
y = 
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26. 
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27. Find the inverse function for:  
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28. Which function below is not even? 


A.
y = | x | 

B.
y = x2 + 3

C.
y = | x + 4 |

D.
y = 
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29. Which equation gives the axis of symmetry for the parabola: y = ax2 + bx + c

A. 
x = b2 – 4ac

B.
x = 
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C.
x = 
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D.
x = b/2
30. How many different ways can 5 people order themselves, taken 3 at a time?


A.
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10 


C.
20


D.
60
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31.  
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32. Which equation defines the general term of the sequence: 3, 5, 7, 9, …
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33. What is the probability of rolling two dice and getting a total of 6?


A.  1/12

B.  1/9

C.  5/36

D.  1/6

34. What is the probability of getting 3 heads and 2 tails in 5 tosses of a coin?

A.  
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35. What is the sum of the infinite geometric series:  
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A.  3/4 


B.  4/3


C.  1/3


D.   3
Algebra 2 Test MC 1.0
 



p. 8
	[image: image92.png]R S T T

2 |3

7654312110 11





	[image: image93.png]R S T T

2 |3

7654312110 11





	[image: image94.png]R S T T

2 |3

7654312110 11






	1.        y = | log2 x |            
	2.          y = 3x + 2        
	3.     y = -3(x – 2)2 + 1
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	7.         y2 – x2 = 1
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1. Given:  
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, find the center, vertices, and foci. (You need not graph.)
2. Given: 
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, find the vertex, focal point, and directrix.
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3. Given: 
[image: image107.wmf]22
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, find the center, vertices, foci, and asymptotes.
4. Divide (using long division):  
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